Parameter Scenario Observed Expected

K floatall ~ (0.04+15) x 103 [-24,24] x 10> (0.0 +£1.8) x 10> [-2.6,2.6] x 10
Ky fix others (0.041.4) x 103 [-2.3,2.3] x 10> (0.0 +£1.6) x 10> [-2.5,2.5] x 10
Kq floatall ~ (0.0+7.1) x 10> [-1.0,1.0] x 103 (0.04+7.4) x 10> [-1.0,1.0] x 10
K4 fixothers (1.5730) x 102 [-9.7,9.7] x 10> (0.0£6.5) x 10> [-9.7,9.7] x 10?
Ky floatall 013 [—46,44] 132 [—44,42]

K fix others 1173 [—44,42] 1j§g [—41,40]

Ke floatall ~ 0.07%7 [—4.0,34] 1ot [-3.8,3.2]

Ke fix others 1.47}2 [—4.0,3.5] 1033 [-3.8,32]

IBM (MeV) floatall — 0.0707 <16 0. ojgg <14




